
EEC-014  1   P.T.O. 

 EEC-014  

BACHELOR’S DEGREE PROGRAMME 

(BDP) 

Term-End Examination 

December, 2021 

 

ELECTIVE COURSE : ECONOMICS 

 EEC-014 : AGRICULTURAL DEVELOPMENT  

 IN INDIA   

Time : 3 hours Maximum Marks : 100 

Note :  Attempt questions from each section as per 

instructions given.  

SECTION A 

Answer any two questions from this section.  2 20=40 

1. ‘‘Agriculture occupies a key position in the 

Indian economy.’’ Do you agree ? Give reasons.  

2. What is meant by ‘land reforms’ ? Evaluate the 

impact of land reforms on India’s rural society.    

3. What do you understand by ‘Green Revolution’ ? 

How has it been achieved in India ? Assess its 

impact on agricultural output.    

4. Examine the effectiveness of price policy in 

protecting the interests of (a) consumers, and  

(b) producers.  
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SECTION B 

Answer any four questions from this section. 412=48 

5. Write a note on ‘Agricultural Distress’ in India 

in terms of its nature, causes and measures for 

solution.  

6. Explain the concept of ‘Rural Industrialisation’. 

Also examine the significance of ‘rural artisans’. 

7. Examine the weaknesses in the marketing 

system for agricultural produce. Suggest 

suitable measures.    

8. Discuss the significance of cooperative societies 

as sources of rural credit in India.    

9. Distinguish between ‘Wet Farming’ and ‘Dry 

Farming’. Discuss their relative significance.  

10. Do you think that the recent technological 

changes help the small farmers ? Elaborate.  
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SECTION C 

Answer both the questions from this section. 26=12  

11. Write short notes on any two of the following :   

(a) Subsidies in agriculture       

(b) Export of agricultural products   

(c) Deforestation   

12. State in brief the principal features of Indian 

agriculture. 
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 B©.B©.gr.-014  

ñZmVH$ Cnm{Y H$m`©H«$_ (~r.S>r.nr.)   

gÌm§V narjm 

{Xgå~a,  2021  

EopÀN>H$ nmR>çH«$_ : AW©emñÌ  

B©.B©.gr.-014 : ^maV _| H¥${f {dH$mg 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> : {XE JE {ZX}emZwgma àË`oH$ ^mJ go àíZm| Ho$ CÎma Xr{OE & 

^mJ H$ 

Bg ^mJ go {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE & $ 220=40 

1. ‘‘^maVr` AW©ì`dñWm _| H¥${f H$m EH$ à_wI ñWmZ h¡ &’’ 
Š`m Amn Bggo gh_V h¢ ? H$maU ~VmBE &  

2. ‘ ŷ-gwYma’ go Š`m A{^àm` h¡ ? ^maV Ho$ J«m_rU g_mO na 
ŷ-gwYmam| Ho$ à^mdm| H$m _yë`m§H$Z H$s{OE &  

3. ‘h[aV H«$m§{V’ go Amn Š`m g_PVo h¢ ? ^maV _| `h {H$g 
àH$ma g§^d hmo nmB© h¡ ? H¥${fH$ CËnmXZ na BgHo$ à^mdm| 
H$s g_rjm H$s{OE & 

4. (H$) Cn^moº$mAm|, Ed§ (I) CËnmXH$m| Ho$ {hVm| H$s ajm _| 
H$s_V Zr{V H$s à^mdmoËnmXH$Vm H$m narjU H$s{OE &  
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^mJ I 

Bg ^mJ go {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE &  412=48 

5. ^maV _| ‘H¥${fH$ g§H$Q>’ Ho$ ñdê$n, H$maUm| Am¡a g_mYmZ 

Cnm`m| na EH$ {Q>ßnUr {b{IE &  

6. ‘J«m_rU Am¡Úmo{JH$aU’ H$s g§H$ënZm g_PmBE & ‘J«m_rU 

{eënH$mam|’ Ho$ _hÎd H$m ^r narjU H$s{OE &  

7. H¥${fH$ CËnmX H$s {dnUZ ì`dñWm H$s H$_µOmo[a`m| H$m 

narjU H$s{OE & C{MV Cnm` ^r gwPmBE & 

8. ^maV _| J«m_rU gmI Ho$ òmoV Ho$ ê$n _|§ ghH$mar g{_{V`m| 

Ho$ _hÎd H$s MMm© H$s{OE &    

9. ‘qg{MV H¥${f’ Ed§ ‘Aqg{MV H¥${f’ _| ^oX H$s{OE & CZHo$ 

gmnoj _hÎd H$s ^r MMm© H$s{OE &  

10. Š`m Amn _mZVo h¢ {H$ hmb hr Ho$ àm¡Úmo{JH$s` n[adV©Z 

N>moQ>o {H$gmZm| H$s ghm`Vm H$aVo h¢ ? {dñV¥V dU©Z H$s{OE &  
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^mJ J 

Bg ^mJ go XmoZm| àíZm| Ho$ CÎma Xr{OE &  26=12 

11. {ZåZ{b{IV _| go {H$Ýht Xmo  na bKw {Q>ßn{U`m± {b{IE :  

(H$) H¥${f _| gmhmæ` (ghm{`H$s) 

(I) H¥${fH$ CËnmXm| H$m {Z`m©V  

(J) {Zd©ZrH$aU 

12. ^maVr` H¥${f H$s _w»` {deofVmE± g§jon _| ~VmBE &  


